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40cm x 24cm x 25cm




F K X
()
F=ma F m a
( ) M=VD M Vv D
F= KX= ma
—ma
K
K=0.65N/cm m=1kg
t=2sec v, =15m/sec  ( 54kmv/hr)
v,=0
ma= TV, —MV, _a:VZt_Vl O g smysec
t
a=7.5m/sec’
F= KX F= ma

KX =ma

ma = 1kg x 7.5m/ sec® = 7.5(kg — m/ sec®) = 7.5N

K=0.65N/cm  X= M- " _q15em (

K 0.65
ie M=70kg
F=-Ma F=70kgx 7.5M/Sec” =525kg-m/sec?=525N
11.5cm 525N

1] 8 ”

2

53.6
63kg/



70.5 38.6
38.6 ( 378N)
a=F/m=378N/70kg = 5.4m/ sec®

= ma_ 1x54 =8.3cm
K 0.65
8.3cm
)
kgw
45.91gw 1lkgw 45.91gw
kgw 4591gw 54.09gw
7.83 g/cm®
v-M 954.09 121.85 cm?®
D 7.83
1
74mm  7.4cm
2 26mm
2.6cm
3
vV =2(D?-d?)xh
4
v 4x121.85
=12 2 >2< 2 3.3cn
(D =d)zr (74 -26%)7
h




g/cm3

cm3

D(

1000

45.91

954.09

7.83

121.85

7.4

2.6

3.3

()

()

()

2.84cm/min




()

X X

40cm x 24cm x 25cm

()
K 0.5N/cm
28mm 10cm
K
=9.8N (cm) (cm) K (N/cm)

4.5 9.8 1

4.6 11 0.89

4.7 12 0.81




()

( 21cm-7cm-8.3cm)

53 13 0.75
5 6.0 15 0.65
6 8.7 19 0.51
21lcm 7cm
6.0cm 15cm K 0.65 N/cm
8.3cm 5.7cm

1.25mm

1.25mm




h=1.25mm x N — .
400mm
sing = ﬂ |
400 .
. .,h/2 | EITE T
0=snt(—= R st :
( 400) ___-?___
u=tan@ .
L (mm)= 400
(rad)
. hi2 u=tand
0=s8n"(5)
N( ) 1.25mmxN h/2(mm) 400
1 8.5 10.63 532 0.762 0.0133
2 9.2 11.51. 5.76 0.825 0.0144
3 8 10 5 0.716 0.0125
4 8.3 10.38 5.19 0.745 0.0130
5 9 11.25 5.63 0.802 0.0140
6 84 10.5 525 0.750 0.0131
7 8.7 10.88 544 0.779 0.0136
8 8.2 10.25 513 0.733 0.0128
8.48 10.68 534 0.767 0.0134
u 00134
F=ma
F=mxa=—(f +F)
f=Wxu Fs=KxX
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—Mxa

m=1kg a=7.5m/sec?

i

7

X u+KxX

ma = 1kg x 7.5m/sec? = 7.5(kg — m/sec®) = 7.5N

7.5N = 9.8N x 0.0134 + 0.65x X
ma-Wu 1x7.5-9.8x0.0134

X =
K 0.65
X =11.5cm
X = ma-Wu 1x5.4-9.8x0.0134

K 0.65

K=0.65N/cm
g 0.0134
=11.34cm
11.5cm-11.34cm=0.16¢cm
=8.11cm
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X =

ma - Wgu

K

o KX W
m

K 065N/em W 98N p 00134 m 1kg

a

X

, _ 0:65x X +9.8x0.0134

=0.65x X +0.13
1
220 210 6 3

+ Xax +2. 2 +2.5 +2. B 2.6 +1|. 5 +2. 3 +2. 1

-al-1.56-1.76-1.9%5-1.82-1.1|-1.68-1.5[|-2.34-2.28-3.64
- Xa -2.5 -3 -2.7 -12. 9 -1.01 -2.5 -12. 1

+-a+1. 76+2. 08+1.89+2.02+0.8%5+1.76+1.5|+2.98+3.06+-3.58
X>+2cm 3 2 6 8 0 2 1 9 27
X>+3cm 0 0 0 0 0 0 0 6 8
X>+4cm 0 0 0 0 0 0 0 0 0
X>-2cm 6 9 9 14 0 1 0 30 2 2
X>-3cm 0] 0 0 0 [0 0 0 12 10
X>-4cm 0 0 0 0 [0 0 0 3 1

2.84cm/min 0.47mm/sec
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K  0.65N/cm

7cm

mgsing = umgcoso ..

Y7,

sing@

=—— =tan

" cosf

20

0

siné =

cosd =

oo 0



H .
17sec ke ik —— 1 ] G
4sec e
121
m/sec?
6]
21lcm 444sec
0.72 bl — 5 4
m/sec’
i1 X |
0.64 m/sec? l
220
(220 %) & db — K
53cm4d & #1120sec=18. Tmin |

it 20 b3 o b ko i
1” lr } H‘l | .F“l *!H .}*--fﬂr N gll};! |.l':';f.‘,.ﬂ!lf!?-'lhi',: %qflﬂw!rrﬂ Fj r[r{r?}”rllih'“}

|
{

1 2 3 4

2.96 m/sec?

2.54 m/sec?
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6 . 0
5. 0
4 . 0
3. 0)
2 .
O+ X
1. m . a
0.
2 2 3 O- X
2 0 0 0 +-la
0 6 4
304
304
4
L]
; [
2 a OX>+2c
1 BmX>+3c
OX>+4c
0
2 2 3 OX>- 2ic
2 0 0
0 6 4 BmX>- 3c
OX>- 4c
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